Christmas Numbricks

FILL GRID WITH THE MISSING NUMBERS FROM 1 TO 64 AND MAKE A CHAIN OF
CONNECTING NUMBERS THAT FORM A CONTINUOUS PATH. THE NUMBERS MAY
CONNECT BOTH HORIZONTALLY AND VERTICALLY, BUT NOT DIAGONALLY.

36 41

12 | 7 |34 (3332|3148 |47

IS |2 |23 (2425|5461 )62

@ 22 551 60

19 58

11| 10 63 54| 53 44 | 43
12 8 @ 2 | 3 61 56 | 57 59 | 50 46 | 41
14 | 21 48 | 49 @ 61 48 40
15 50 3 63 | 28 30
18 51 12 27 31
29 | 26 41| 52 6 14 25 37
31 27136 | 37| 40 56 7|10 16 | 23 33 | 36
32| 33 54| 55 9 |18 21 | 34

copyright: www.mathinenglish.com



Answers

FILL GRID WITH THE MISSING NUMBERS FROM 1 TO 64 AND MAKE A CHAIN OF
CONNECTING NUMBERS THAT FORM A CONTINUOUS PATH. THE NUMBERS MAY
CONNECT BOTH HORIZONTALLY AND VERTICALLY, BUT NOT DIAGONALLY.
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